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1. 次の式を積分せよ。

(1)

∫
(3x2 − 6x+ 1)dx

(2)

∫ 3

0

(4x+ 1)dx

(3)

∫ 2

−2

(x2 − 2x+ 3)dx

(4)

∫ 3

3

(2x3 + x2 − x+ 5)dx



解答

(1)

∫
(3x2 − 6x+ 1)dx = 3 · x

3

3
− 6 · x

2

2
+ x+ C = x3 − 3x2 + x+ C

(2)

∫ 3

0

(4x+ 1)dx =

[
4 · x

2

2
+ x

]3
0

=
[
2x2 + x

]3
0
= 2 · 9 + 3 = 21

(3)

∫ 2

−2

(x2 − 2x+ 3)dx =

[
x3

3
− 2 · x

2

2
+ 3 · x

]2
−2

=

(
8

3
− 4 + 6

)
−

(
−8

3
− 4− 6

)
=

16

3
+

36

3
=

52

3

(4)

∫ 3

3

(2x3 + x2 − x+ 5)dx = 0

☆　積分範囲が　上端＝下端　のため 　
∫ a

a

f(x)dx = 0　を適用する。


